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ECONOMICS
(Honours)
Paper — IV
Full Marks — 90
Time . 4 Hours
FIRST HALF
(Statistics — Il)

The ;'questfons are of equal value for any group / half
The figures in the right-hand margin indicate marks.

Candidates are required to give their answers in
their own words as far as practicable.

- llustrate the answers wherever necessary.
' Group — A
Answer any five questions : 2x5
1.1 (a) What is sampling error ?

' (b) ACoin and one die are thrownsimullaneously.
What is the number of possible outcome ?
(c) Distinguish between discrete random variable

and ontinuous random variable.
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(d) What is probability mass function? |

{e) Write two important properties of binomial
distribution.

(f} Whatis conditional probability?
(g) State two advantages of stratified sampling?
(h) Distinguish between parameter and statistics.

Group - B
Answer any three questions : 5x3
2. State and prove the theorem of total probability.
3. Verify that the following function is probability
density function :
L x>for 0 < x <1
2
% (X2 —3(x-1]for 1< x <1
f(x)= % x2 ~3(x-12 + 3(x-2)%]for2< x <3
0 otherwise
4. State the properties of normal distribution.
5. Acard is drawn at random from a well-shuffled
pack of 52 cards. What is the probability that it
Is a heart or a queen 7
6. I{f\, B are wo events then prove that :
P(A) = P(AB) + P(AB)
7. Find mean and variance of Poisson distribution.
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Group - C

Answer any two questions : 10 x 2
8. (a) Give the axiomatic definition of probability.
(b) There are 20 important topics in a paper of
Economics. You have prepared only 10 of
them. 12 topics are set at random in the
examination from those 20 topics. What is
the probability that you wil! get atleast 6

+ topics from your choice.

9. What are the conditions of binomial distribution?
Prove that the poisson distribution is a limiting
form of the binomial distribution.

10. What is a statistical hypothesis? How is it tested?
What are meant by type-l error and type-l|
error? '

11. What are the properties of probability distribution
function [F(x)] for the random variable x? Find
F(x) for the pdf.

(x,0< x < 1

3% 4 v <3
4

0 otherwise

SECOND HALF
(Development Economics)
Group - A

Answer any five questions : 2x5
1. - (@) Whatis 'dual-gap'?
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(b) Define inclusive growth.

(c) Mention Rostow's different stages of

economic growth.

(d) Write the names of different types of
Investment criterion.

e) What do you mean by Capital formation?

fy  Write two important functions of IMF.

g) Define human capital.

d) What are the assumptions of Lewis model?

Group - B

Answer any three questions : 5x3

Explain the concept of substainable development.

Explain the concepts of economic dualism.

How is Human Development Index constructed?

Distinguish between balanced and unbalanced

growth strategies.

"Foreign trade is engine of growth"—Discuss.

What is Gini Co-efficient? What are its uses?

Group - C

Answer any two questions ; 10x2

8. Evaluate the role of foreign investment in Economic
Development.

9. Discuss the role of social sectors in the process
of economic development of a country.

10. Explain Leibenstein's theory of critical minimum
effort.

11. Why are technological choices different between
developed countries and developing countries?
Should LRGs always choose labour intensive
technology?
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